
Comprehensive Chess Course, Volume II
Lesson 8 Homework

(Answers are in the book.)

I. Use the tactical device of ”pinning” in the so-
lutions to Diagrams 315 - 320.

315

0Zrl0Z0Z
Z0a0ZkZ0
0ZpZ0ZpZ
Z0MrZpm0
0Z0Z0Z0o
ZPZ0Z0ZP
0ZPZBLPZ
S0Z0S0J0

Find all the possible pins both with White to
play and with Black to play.

316

0Z0Z0Z0Z
Z0Z0o0Z0
0Z0Z0Z0Z
Z0Z0Z0Z0
0Z0m0ZkZ
Z0Z0Z0Z0
0Z0ZPZ0Z
S0Z0J0Z0

White to play. How can he win the Black Knight?

317

0Z0s0Z0Z
Z0j0Z0Z0
0Zpm0Z0Z
Z0Z0Z0Z0
0Z0Z0Z0Z
Z0M0ZbA0
0Z0Z0Z0O
Z0S0Z0J0

White to play. How can he win the Black Knight?
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318

0Z0Z0Z0Z
Z0Z0Zko0
0o0Zqo0Z
ZBZ0a0Z0
0Z0Z0Z0Z
ZPZ0ZQZ0
0Z0Z0O0Z
Z0Z0Z0J0

White to play. Find the best move.

319

0ZrZ0Z0Z
Z0a0Z0Zp
0Z0Z0ZpZ
Z0Z0jpZ0
0Z0o0Z0Z
Z0ZPZ0O0
0Z0Z0Z0Z
Z0SRZ0ZK

White to play and win a piece.

320

0Z0Z0skZ
Z0Z0Zpo0
0Z0ZBZ0o
Z0Z0A0ZK
0Z0ZQZ0Z
Z0Z0Z0Z0
0Z0Z0Z0Z
Z0Z0Z0Z0

White to play and mate in two moves.

WHITE BLACK
1.
2.

II. Diagrams 321 - 326. In each position find a
combination based on the tactical device of ”pin-
ning.”

321

rZbZ0skZ
Z0o0Zpop
pZ0Z0Z0Z
ZpZ0Z0Z0
0Z0O0Z0l
ZBO0ZQZP
PO0Z0mPZ
SNA0SKZ0

White to play and mate in two moves.

WHITE BLACK
1.
2.
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322

0Z0ZrZkZ
Zpl0opZp
pZ0o0ZpA
Z0o0Z0Z0
0Z0O0L0Z
Z0OnZ0ZP
PO0Z0OPZ
Z0Z0S0J0

White to play and mate in two moves.

WHITE BLACK
1.
2.

323

rZ0ZkZ0s
Zpoqa0op
0Z0obZnZ
o0Z0ZpZ0
0ZNOpZ0Z
Z0M0O0Z0
POPZBOPO
S0ZQZRJ0

White to play. How can he win the exchange?

324

0Z0Z0Z0j
Z0Z0Z0l0
0Z0Z0Z0Z
Z0Z0Z0Z0
0Z0s0Z0Z
Z0ZQZ0Z0
0O0A0Z0Z
Z0Z0J0Z0

White to play. How can he win the exchange?

325

0Z0Z0akZ
Z0Z0Z0Z0
0Z0Z0o0Z
ZRs0ZpZp
0ZPZpA0O
Z0Z0Z0Z0
0Z0Z0OPZ
Z0Z0Z0J0

White to play and win a piece.
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326

0Z0Z0Z0Z
o0Z0Zrj0
0Z0Z0a0Z
O0Z0Z0Z0
0Z0Z0Z0Z
ZPZ0ZRZ0
0A0Z0Z0Z
Z0Z0Z0ZK

White to play and win.

III. In Diagrams 327 - 332 use the ”rule of the
square of the pawn” to find the solutions.

327

0Z0Z0Z0J
Z0Z0Z0Z0
0Z0Z0Z0Z
Z0OkZ0Z0
0Z0Z0Z0Z
Z0Z0Z0Z0
0Z0O0Z0Z
Z0Z0Z0Z0

How should the game end with White to play?
With Black to play?

328

0Z0Z0Z0j
Z0Z0Z0Z0
pZ0Z0Z0Z
Z0o0Z0Z0
0Z0Z0Z0Z
Z0ZKZ0Z0
0Z0Z0Z0Z
Z0Z0Z0Z0

Can Black win if it is his turn to play? And if it
is White’s turn?

329

0Z0Z0Z0Z
Z0Z0Z0Z0
0Z0Z0ZPj
o0Z0Z0ZP
KZpZ0Z0Z
Z0Z0Z0Z0
0Z0Z0Z0Z
Z0Z0Z0Z0

Find the draw both with White to play and with
Black to play.
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330

0Z0Z0Z0Z
ZpZ0Z0jP
0o0Z0ZPZ
ZpZ0Z0Z0
0o0Z0Z0Z
oKZ0Z0Z0
0Z0Z0Z0Z
Z0Z0Z0Z0

Is it possible for this position to occur? How
should the game end (whether it is White or
Black to play)?

331

0Z0Z0Z0Z
ZpZ0Z0j0
0o0Z0Z0Z
ZpZ0ZPZP
0o0Z0Z0Z
oKZ0Z0Z0
0Z0Z0Z0Z
Z0Z0Z0Z0

Find the draw both with White to play and with
Black to play.

332

0Z0Z0Z0Z
Z0Z0Z0Zk
0Z0Z0O0Z
Z0Z0ZPZ0
0Z0Z0O0O
ZpZ0ZPZP
pZ0Z0Z0O
J0Z0Z0Z0

Is it possible for this position to occur? Find the
draw both with White to play and with Black to
play.
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